RPUEK x-5800p M EImAETIH A WM& i ERET
ARRFF NI R (SQX-IS) MR i T FL ¥ (SQX-DATA-ZX) Wi il 43 & 3 i), FRRHEAT
I, TTPLIE SRR R I /2 28 (SQX-DATA-ZX) 8 A 2i(SQX-DATA-YX) LIEEdE 2, BRiz T ARSI .

el 26 T E AR (SQX-JS)

ClrMat:ClrStat:ClrMemory:FreqOff:Fix4e
Lbl  0:Cls:”"DK="2Kd/ /i \ T B il i) B2
If K>0:Then €

Cls:"ZX[1]:YX[2]72—Gd//iettit sk ki 474k

G=1=Prog "SQXTIDATALIZX" ¢/ /i 2z e e

G=2=Prog "SQXTIDATALIYX" ¢/ /i Fi4: e e
Mat D[1,1]—A:Mat D[1,2]—B:Mat D[1,3]—C:Mat D[1,4]—D:Mat D[1,5]—>T1:Mat DI

1,6]—J:Mat D[1,7]—>Re
While K<A Or K>Bé¢
Cls:Locate 6,2, "DKLJOUT” MStop:WhileEnde / /455t i $idie e B A2 4h
Else Cls:"Kn="?A:"Ke ="?Bd//mBHMNEFLNT 1, WEHT THAHELSE, Ko &Mk ani, Ke 2
AN,
Cls:”JD K="?D:"JDh ="2Cd//tnsc i i, & s,
Cls:” 1 1="21:" 1 2="2Jd/ /S N3 i1 AN i2
Cls:"R="2R:"DK="2K:Cls:K=0=>Goto 0:IfEnde//#nuhskp:re, LR HEEI R,
RAbs (I-]) =1000—~L:0. 5 x L=>T:T*> +=R-+2—>E:D-T—M: D+T—Ne//ibhbid 55 A B 5%k % TALHE LB
-1—Q: I<{J=1—>Qd
If K=M:Then C+(K-D)I-+1000—H:Goto 1:IfEnd¢
If KM And K=D:Then (K-M)?-+R-+2—S:C+(K-D)I-+1000+QS—H:Goto 1:IfEnd¢
If KD And K=N:Then (K-N)2?-+R-+2—>S:C+(K-D)J+1000+QS—H:Goto 1:IfEnd¢

If K>N:Then C+(K-D)J-+1000—~H:Goto 1:IfEnde



Lbl 1:Cls:”SQXCIYS:”:"Ee =":Locate 5,2,E:’K m=":Locate 5,3,M:”’K n

=":Locate 5,4,N.MdCls:”SQXCIRESULTS:” :Locate 1,2, ”DK=":"":Locate 5,2,K:”H

While

While

While

While

h =":Locate 5,3,H:”Zh =":Locate 5,4, H+2.06 4Goto 04

B BT R R 2R i (SQX-DATA-ZX)
KOREAERE And K=Z& QB [[EARR & B, ZR B, Zamis, BT 1, 3
B2, ¥42]]—Mat D:Return:WhileEnd¢
K>26540 And K=27328.670:[[26540, 27328. 670, 31. 25, 26990, 0, -4, 6000] ] ~Mat
D:Return:WhileEnd¢
K>26990 And K=27510:[[26990, 27510, 29. 890, 27328. 67, -4, —16. 064, 5000] ] ~Mat
D:Return:WhileEnd¢
K>27328.670 And K=27912:[[27328.670, 27912, 26. 977, 27510, —16. 064, —24. 520, 6

000]]—Mat D:Return:WhileEndé¢

T\ BPUESSEEB AR WE R XHH QQ: 714864459 Yl — A RIS -



